

 41-60 Multiple Choice Questions
	1. 
	program Q36;

begin

  writeln(trunk(sqr(sqrt(64))));
end.
A. 2

B. 4

C. 8

D. 64

E. 4096
 (1999 MC No.36)

	sqrt (64) = 8

sqr (8) = 64

trunk (64) = 64

∴ the answer is D. 


	2. 
	program Q37;

var a, b, c : integer;

begin

  a:= 20;

  b:=10;

  if a = b then

    c := a

  else

    c := b;

  writeln(a, b. c);

end.
A. 201010

B. 101010

C. 201020

D. 102010

E. 202020
(1999 MC No.37)

	a <> b, ∴ c = b = 10
∴ the answer is A.



	3. 
	program Q38;

var x, y : integer;

begin

   x:=10;

   y:=3;

   while (x > 0) and (y > 0) do

     x:= x-y;

   writeln(x)

end.
A. 1

B. 2

C. –1

D. –2

E. 0
(1999 MC No.38)


	x

y

10

3

10 – 3 = 7

3

7 – 3 = 4

3

4 – 3 = 1

3

1 – 3 = -2

∴ the answer is D.


	4. 
	program Q40;

var s, j : integer;

begin

  s:=0;

  for j:= 5 downto 1 do

    begin

      write(j);

      s:= s + j

    end;

  writeln(s);

end.
A. 12345

B. 1234515

C. 5432115

D. 5432121

E. 1234521
(1999 MC No.40)

	“write(j)” ( output “54321”

after the loop, s = 1 + 2 + 3 + 4 + 5 = 15

output “15”

∴ the overall output is “5432115”

∴ the answer is C.


	5. 
	program Q39;

var a, b, c, d :integer;

begin

  a:=5; b:=3; c:=99; d:=5;

  if a > b then 

    write(‘B’);

  if b = c then

    begin

      write(‘D’)

    end;

  if b <> c then write(‘E’) else write(‘F’);

  if a >= c then write(‘G’) else write(‘H’);

  if a <= d then

    begin

      write(‘I’);

      write(‘J’)

    end

    end.
A. BEHIJ

B. BEGIJ

C. BDEG

D. DEGIJ

E. EGIJ
(1999 MC No.39)

	a(5) > b(3), ∴ output ’B’.
b(3) <> c(99), ∴ output ‘E’.

a(5) < c(99), ∴ output ‘H’.

a(5) = d(5), ∴  output ’i’ and ‘j’.

∴ the answer is A.



	6. 
	programQ41;

var numbers : Array [1..5] of integer;

begin

  numbers[1] := 7 ;

  numbers[2] := 13 ;

  numbers[3] := numbers[2] -1 ;

  numbers[4] := numbers[3] DIV 3 ;

  numbers[5] := numbers[3] DIV numbers[4] ;

  writeln(numbers[5])

end.
A. 4

B. 12

C. 13

D. 7

E. 3
 (1999 MC No.41)

	numbers [1] = 7,   numbers [2] = 13, 

numbers [3] = 12,  numbers [4] =12 div 3 = 4,

numbers [5] = 12 div 4 = 3

∴the output =  numbers [5] = 3

∴ the answer is E.

	7. 
	Which of the following is considered a computer crime?

A. Selling “Freeware” downloaded from the Internet

B. Downloading “Freeware” from the Internet

C. Using a computer in a public library to log onto the Internet

D. Making a fund transfer through the Internet

E. Backing up data files downloaded from the Internet       

(2000 MC No.2)


	Freeware are software that free of charge to use, but the copyright of the software still belong to the author. Selling these software without the author’s permission is considered as computer crime.
∴ the answer is A.



	8. 
	Given three two’s complement 8-biyt integers X, Y and Z such that Z = X + Y, where Y is the one’s complement of X. What is the value of Z in decimal?

A. -127

B. -1

C. 0

D. 255

E. 127  

(2000 MC No.4)


	The two complement of X = -X
-X = the one’s complement of X + 1

   = Y + 1

∴ Y = -X – 1

Z = X + Y

  = X + ( -X – 1)

  = -1

∴ the answer is B.



	9. 
	In the following diagram, bits 1 to 7 are used to store the ASCII code of a character and bit 0 is the odd parity bit.

Which of the following bit patterns represents the character ‘U’?
A. 1110 1010

B. 1010 1010

C. 0101 0101 

D. 1101 0101

E. 1010 1011 

(2000 MC No.5)


	Since the odd parity bit is used, ∴ the no. of 1s should be odd.

The bit pattern of the character ‘U’ is 1010101 ( the no. of 1s is 4 [even] 

∴ the parity bit should be 1 to make the total no. of 1s be odd.
∴ the new bit pattern is 10101011
∴ the answer is E.

	10. 
	Which of the following mode of processing systems can respond quickly to some external events?

A. Time sharing

B. Batch

C. Real time

D. Multitasking

E. Interactive                                       

(2000 MC No.8)


	The answer is C.


	11. 
	Records in a random file are stored…
A. in a location assigned by an addressing algorithm.

B. in a location assigned by a random number generator.

C. in any empty location.

D. in the order of input.

E. in the order of the key.                             

(2000 MC No.9)


	The answer is A.


	12. 
	Which of the following peripherals are output devices?

(1) Plotter

(2) CD-ROM Drive

(3) Scanner

(4) Hard Disk Drive

A. (1) and (2) only

B. (2) and (4) only

C. (1) and (3) only

D. (1) and (4) only

E. (3) and (4) only                                   

(2000 MC No.14)


	Plotter is a output device.
CD-ROM Drive and Scanner are input device.

Hand Disk Drive is both input and output device.

∴ the answer is D.



	13. 
	Below are 3 storage media:

(1) Random Access Memory

(2) Hard Disk

(3) Magnetic Tape Drive

Arrange these in term of access speed, from the slowest to the fastest

A. (3), (2), (1)

B. (2), (1), (3)

C. (1), (3), (2)

D. (2), (3), (1)

E. (1), (2), (3)                                       

(2000 MC No.15)


	Random access memory and hard disk have direct access mode, so their access speed are faster when compare with Magnetic Tape Drive. ∴ the access time of (3) is slowest.

The access time of (1) is faster when compare with (2) ∴ the access time of (1) is fastest.

∴ the answer is A.



	14. 
	Which of the following is/are true about a laser printer?

(1) It outputs high-quality hard copy.

(2) It is an impact printer.

(3) It operates quietly.

A. (1) only

B. (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)                                   

(2000 MC No.17)


	Laser printer is not a impact printer because it outputs images on paper without physically touching the paper. ∴ (2) is false.
∴ the answer is C.



	15. 
	Which of the following will affect the output quality of a visual display unit?

(1) Number of colours

(2) Resolution

(3) Memory size

A. (1) only

B. (1) and (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)

(2000 MC No.18)
	The answer is E.

	16. 
	Which of the following is/are example(s) of the infringement of copyright?

(1) Peter downloaded a shareware from the Internet and continued to use it after the free trial period.

(2) When Mary submitted her assignment to her teacher via the network, the teacher’s computer became infected.

(3) Tom sold pirated software.

A. (3) only

B. (1) and (3) only

C. (1) and (2) only

D. (2) and (3) only

E. (1), (2) and (3)

 (2000 MC No.23)


	For (1), after the free trial period, a software should not be used anymore unless the user buy the whole software. Otherwise, the user infringe the copyright.
For (3), selling software without the author’s permission is consider as infringe the copyright.

∴ the answer is B.



	17. 
	The decimal number 3.375 in binary normalized form is

A. 0.11011 x 1010
B. 0.11011 x 10-10
C. 11011 x 1011
D. 11011 x 10-11
E. 1.1011 x 1001 

(2000 MC No.25)


	The decimal no. 0.375 in binary form is:

0.375

 x        2

0.750

x        2

1.500

x        2

1.000

∴ 0.37510 ( 0.0112
The decimal no. 3 in binary form is 11. 
∴ 3.37510
= 11.0112
= 0.110112 x (22) 10
= 0.110112 x (1010) 10
∴ the answer is A.


	18. 
	Using 13-bit, 2’s complement representation, what is the result of -513-512?

A. 1000000000001

B. 1101111111111

C. 0111111111111

D. underflow occurs

E. overflow occurs 

(2000 MC No.26)


	In 13-bit 2’s complement, -513 ( 1110111111111
512 ( 0001000000000

1110111111111
-
0001000000000
1101111111111
∴ the answer is B.


	19. 
	Which of the following tasks can be performed by a database management system?

(1) Listing customers who used mobile phone for more than 1000 minutes in last month

(2) Sorting students’ marks in descending order

(3) Producing invitation letters to customers

A. (1) only

B. (3) only

C. (1) and (2) only

D. (2) and (3) only

E. (1), (2) and (3)

 (2000 MC No.27)

	All these function can be performed by a database management system.

∴ the answer is E.

	20. 
	Which of the following is/are the advantage(s) of real-time processing over batch processing?

(1) It is easier to set up the system.

(2) The hardware is cheaper.

(3) The information is more up-to-date.

A. (1) only

B. (2) only

C. (3) only

D. (1) and (3) only

E. (2) and (3) only 

(2000 MC No.29)


	Since the real-time processing need up-to-date information, so it’s cost is more expensive and more difficult to set up.
∴ the answer is C.
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